oo oiip Titp e = Liséys enintdén 100 (vaaka)

Nimi: Pdivamadrd: _ Pisteet:
71+ 12 = 28 +41 =
21 +89 = 81 +52 =
96 + 50 = 100 +20 =
S3+31 = 88 + 59 =
6+93 = 87+39 =
83+ 14 = 12 +49 =
98 + 83 = 04 + 28 =
17+ 87 = 71+ 68 =
S1+94 = 46 + 100 =
20+ 14 = 24+ 70 =
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Lisdys enintddn 100 (vaaka)

Nimi:

71+12 =283

21 +89 =110

96 + 50 = 146

53+31 =284

6+93 =99

83 +14=97

98 + 83 = 181

17+87 =104

51 +94 =145

20+ 14 =34

Paivamaara: Pisteet:

28 +41 =69

81 +52 =133

100 +20 = 120

88 +59 = 147

87+ 39 =126

12+49 =61

94 +28 =122

71+ 68 = 139

46 + 100 = 146

24+ 70 = 94
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